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QUESTION 1

After a motherboard replacement on a NetApp AFF A300 in a SAN environment, the customer states that ports Oe and
Of are unable toconnect to the fabric. The ports report "offline".

What would you examine first to troubleshoot the issue?

A. vserver fcp wwpn-alias show command output

B. system node hardware unified-connect show command output
C. storage port show command output

D. vserver fcp interface show command output

Correct Answer: C

QUESTION 2

You have recently discovered that NetApp ONTAP Cloud Manager is not sending AutoSupport messages to NetApp. In
this scenario, what would solve this Issue?

A. Verify that your AWScredentials are correctly added to Cloud Manager.

B. Verify that your NetApp Support site credentials are correctly added to Cloud Manager.
C. Verify that your data LIFs allow traffic to mysupport .netapp.com on port 443.

D. Verify that the inbound and outbound rules allow AutoSupport on port 80.

Correct Answer: C

QUESTION 3

You recently discovered the error message shown below in your ONTAP logs.

[wafl.incons.userdata.vol:error] ; WAFL inconsistent: volume my data vol

What should be your first action to correct this Issue?

A. Power cycle all the disk storage shelves that contain drives of the aggregate with the my_data_vol volume.
B. Determine the root cause behind the inconsistency before attempting any recovery procedure.

C. Use the storage takeover command on the storage controller that contains my_data_vol.

D. Use the wafliron command against my_data_vol to solve the inconsistency on the volume.

Correct Answer: A
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QUESTION 4

You are trying to deploy a Connector in the AWScloud from NetApp Cloud Manager. The deployment fails and shows
the message \\'Insufficient permissions to deploy Cloud Connector". You have verified the AWS access key and the
AWS secret key.

In this scenario, what Is the reason that the deployment failed?

A. No AWS Marketplace subscription is associated with Cloud Manager.

B. The required Identity and Access Management (IAM) policies were not Installed.

C. The user lacks the permission to deploy within Cloud Manager.

D. The Connector can be deployed only inAWS GovCloud (US).

Correct Answer: C

QUESTION 5

Your customer has deployed a two petabyte NetAppONTAP FlexGroup volume across their 4-node ONIAP 9.8 cluster.
They plan to store over three billion files. They want to prevent file 10 conflicts since files are placed into the FlexGroup
volume.

In this scenario, which two NFS SVM parameters should be enabled? (Choose two.)

A. -v3-64bit-identifiers

B. -v4-fsid-change

C. -v3-fsid-change

D. -v4-64bit-idantifiers

Correct Answer: AC

QUESTION 6

You are attempting to connect a NetApp ONTAP cluster to a very complex network that requires LIFs to fail over across
subnets. How would youaccomplish this task?

A. Configure an equal number of UFs on each subnet.

B. Configure VIP LIFs using OSPF.

C. Configure VIP LIFs using BGP.

D. Configure a | IF failover policy for each subnet inside a single broadcast domain.

Correct Answer: C
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QUESTION 7

A customer with an FC MetroClusterconfiguration that is running NetApp ONTAP 9.8 software experienced a site
outage and wants to know why the MetroClusler configuration did not switch over to the other site. What are two
reasons for this problem? (Choose two.)

A. There was a failed PSU inthe switchover site.

B. The ISLs were down between the sites.

C. The site had unmirrored aggregates.

D. An ISL link was not operating at 16Gbps.

Correct Answer: AC

QUESTION 8

When you review performance data for a NetApp ONTAP cluster node, there are back-to- back (B2B) type consistency
points (CPs) found occurring onthe loot aggregate.

In this scenario, how will performance of the client operations on the data aggregates be affected?
A. During B2B processing, clients will be unable to write data.

B. Data aggregates will not be affected by B2B processing on another aggregate.

C. During B2B processing, all I/O to the node is stopped.

D. During B2B processing, clients will be unable to read data.

Correct Answer: B

QUESTION 9

A customer reports that some of their client computers are unable to access a FlexGroup over CIFS. This problem
involves only their older Windows XP clients and some printers and scanners.

In this scenario, which statement Is correct?

A. FlexGroup requires CIFS shares to be located in gtrees, which these clients do not support.

B. FlexGroup requires CIFS shares to use the Continuously Available Feature, which these clients do not support.
C. These systems use the SMQI protocol which Is an unsupported feature in FlexGroup

D. These systems use Offloaded Data Transfer, which is an unsupported feature in FlexGroup.

Correct Answer: B
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Your customer added a new DS4246 shelf to their FAS2750 single-node system and created a new aggregate on the
new shelf. Two weeks later, they log into Active IQ and discover the Medium Impact error shown below. Shelves with
both connections via the same SAS path detected
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Referring to the exhibit, which statement is correct?

Serial Mumber " SEFAC1SIE001218", Froduet

Frodust

A. In a FAS2750 system, the internal shelf is only seen on one path, and the external shelves are seen on two paths.

B. The cables are cabled Incorrectly on the SAS stack.

C. This situation is normal for a FA57750 single-node system.

D. Active IQ Is not aware of the shelf configuration for a single-node system.

Correct Answer: C
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